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SÉQUENCE 3 

FRANÇAIS 
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Exercice 9
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Exercice 9 (suite) 
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Exercice 9 (suite)
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Exercice 9 (suite) 
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Exercice 9 (suite) 
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Exercice 9 (suite) 
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Exercice 9 (suite) 
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Exercice 10 

Il ne court pas. 
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Exercice 10 (suite) 

Le chat est petit mais il n’est pas noir. 
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Exercice 10 (suite) 

La souris est devant la cage. 
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Exercice 10 (suite) 

Elle regarde les chats. 
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Exercice 11
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Exercice 11 (suite)
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Exercice 11 (suite) 
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Exercice 11 (suite) 
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Exercice 11 (suite) 
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Exercice 11 (suite) 
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Exercice 11 (suite) 
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Exercice 11 (suite) 
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Exercice 12 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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Exercice 12 (suite) 
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SÉQUENCE 4 

MATHÉMATIQUES 
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Exercice 13

2 - 1 = 5 1 3 2 7 8 
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Exercice 13 (suite) 

4 - 3 = 6 7 2 3 1 5 
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Exercice 13 (suite) 

5 - 2 = 2 5 3 6 4 7 

Page 3923PECPEM_2



Exercice 13 (suite) 

7 - 5 = 4 6 8 3 12 2 
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Exercice 13 (suite) 

8 - 1 = 9 7 8 11 12 10 
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Exercice 13 (suite) 

7 - 7 = 8 11 1 2 14 0 
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Exercice 13 (suite) 

8 - 4 = 4 12 5 6 8 7 

Page 4323PECPEM_2



Exercice 13 (suite) 

9 - 7 = 16 10 3 4 6 2 
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Exercice 13 (suite) 

19 - 2 = 19 21 192 18 17 2 
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Exercice 13 (suite) 

11 - 2 = 2 10 13 11 9 112 
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Exercice 13 (suite) 

15 - 10 = 10 6 5 15 25 1510 
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Exercice 14 

0 10 

8 4 6 5 2 1 
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Exercice 14 (suite) 

Exercice 15 (suite) 

11 1 13 3 4 23 

0 10 
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Exercice 14 (suite) 

15 5 6 11 1 27 

0 10 
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Exercice 14 (suite) 

0 10 

5 24 1 4 14 11 
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Exercice 14 (suite) 

13 7 20 11 35 10 

8 12 
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Exercice 14 (suite)

+ 

0 10 

11 1 16 37 6 7 

Page 5323PECPEM_2



Exercice 14 (suite)

27 14 16 20 49 17 

15 19 
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Exercice 14 (suite)

+ 

23 33 

43 25 22 16 34 26 
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Exercice 14 (suite)

+ 

10 20 

27 9 17 48 16 21 
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Exercice 14 (suite)

23 38 29 27 26 16 

24 28 
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Exercice 14 (suite)

+ 

15 25 

21 14 26 43 30 20 
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Exercice 14 (suite)

19 29 

26 36 27 56 18 30 

Page 5923PECPEM_2



Exercice 14 (suite)

25 35 

36 32 22 56 24 31 
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Exercice 15 

3 5 8 13 12 14 
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Exercice 15 (suite)

4 6 5 13 9 10 
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Exercice 15 (suite) 

4 13 14 12 5 9 
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